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AB = 8m, AC = 6m, BC = 7m ©]1 AC
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@ 5cm, 3cm, 2cm @ 4cm, 3cm, lcm
® 6cm, 3cm, 2cm @ 7cm, 3cm, 3cm
@SCIH, 3cm, 6cm
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@ 5cm = 2cm + 3cm
@ 4cm = 3cm + lem
® 6cm > 5em(= 2cm + 3cm)

@ 7cm > 6cm(= 3cm + 3cm)
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@ A =30°, /B = 20°, 2C = 130°

© BC = 2cm, CA = 8cm, £C = 60°
® AB = 7cm, BC = 9cm, CA = 2cm
® AB = 7cm, CA = 4cm, /A = 180°

@ AB = 4cm, /A = 75°, /B = 60°
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22 27t LAOB & A5 R FEol), &
A
Al
= G
D
O IB -

rlo

Yy
o

4

i

@ AC=CB
© CD=DB
© ¢AOD = /COB = 60°
® <AOC = /COB = 30°
® AO =DO
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AC=CD=DB,A0=CO=B0O=DO,
/AOC = /COD = /DOB = 90° + 3 = 30° ,
/AOD = /COB = 60° o]t}.




